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". " . Find the odd man out.
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Find the odd man out.
(a) A |[
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Find the odd man out.
(a) Shirt: Dress
(b) Mango: Fruit
(c) Table : Furniture

ﬂBoy: Girl ]




Find the odd man out.

(a) Nitrogen & oxygen : Air v

(b) Sulphur & Phosphorous : Match stick «
(c) Hydrogen & Oxygen : Water . —

W Magnesium & Silver : Stainless steel
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(n equealite Ronder'vy —= Vuz2le
Suresh is taller than Ramesh who is shorter than
Rakesh. Jinesh is taller than the shortest person but
shorter than Rakesh. Pritesh is taller than Suresh but
shorter than Jinesh. - T - ]

Who is the shortest? :
{8¥Rakesh Qoo > Fieeks > ¥oiiedn > Sucreet 5 Lame
(c) Pritesh
(b) Ramesh
(d) Suresh



Suresh is taller than Ramesh who is shorter than
Rakesh. Jinesh is taller than the shortest person but
shorter than Rakesh. Pritesh is taller than Suresh but

shorter than Jinesh. |
Qash. > Fvuks > YT > Suveet

Which statement, among the following is correct?
(a) Suresh is taller than Jinesh X

Pritesh is shorter than Rakesh \&/
(c) Jinesh is taller than Rakesh »

(d) Ramesh is taller than Pritesh %




seS8 O Six persons are sitting around a circular table. Ajay is
getewt | facing Hemant who_is sitting to the left of Arvind and right

of Sanjay. Suman is to the right of Arvind. Manoj is facing

A

Arvind.

Who is now sitting to the right of Manoj?
(a) Arvind
(b) Ajay
(c) Suman
% None of these




Statement: 2 na Y2y
All equipment are screw-drivers.

All machines are equipment.
Conclusions: @
\,IAO e screw-drivers are equipment.

-Some screw-drivers are machines.

ll. All equipmentare machines.

a) Only conclusions | and Il follow.

(
(b) Only conclusions |l and Il follow.
(
(

e c) All conclusions follow.
S d) @nly conclusions | and Il follow.
celiis.
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Some ants are bats.

Some ants are crabs.

Conclusions:
71: Some bats are crabs.

Al. No crab iS an ant. = wmp/m'%?%/
M. No bat is crab,

( )Only conclusions | and Il follow.

b) Only conclusions | and Il follow.

v%)/Elther conclusmngor Il follows.
(d) Either conclusion | or Il follows.




Statement: /
Some plants are vegetable. (é? \_/fgo
All vegetables are vitamins.

Conclusions:

\_J'Some vitamins are plants.
v/gﬁ?ne vitamins are vegetables.
[l. No vitamin is plant.

(a) Either conclusion | or 1l follows.
Wn y conclusions | and Il follow.
nly conclusions | and Il follow.
nly conclusions |l and Il follow.
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